D e e e e e e
e e R R R
I ————————]
=

———1—1—1—1—1—1—

e e e e ————

I=————1—1—1—1—1—1—]}

e o —Sc—>

]
]
]
]
]
]
]
[
=

11—
" —————— 11—
I —— =1

———1—1—1—1—1—1—1
I———f—f1—§—§—§—§—|
I=——f——f——f——§———§——§——§——|
111111

I——0—1—1—1—1—1—]
I———1—1—1—31—§—1—|

=

I=——1—1—3%—31—§—% ]
R TG (151 M +2k8 L
[-X-)

86 Tlel

(0001 OL6 , 0ZZ1) 0591 . _
_ 0zer. _ wm__ (T9¢) 94T

]

O

051

(e 09

— MW

02Ty 0S°LyLL
(00€1) 0ccl

Q / -
CETTA) ow.wa_ 2/ Loy W Od ! ,ngm&

DL (37-45KW) npsimoro mpuBoza
OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru



puc.1 nnuta-ocHoBaHue

No. obo3HavyeHne HanmMmeHoBaHUne KOJ1-BO KOMMeHTapVIVI
1 GB5783-86 12 F:M16*35 4
2 GB93-87 516 12
LGK67.1G-1 FEHLS 1 37KW
3 LG78.1G-1 1 45KW
4 LGK67.1-6 HEA
5 LGK67.1-5 FHLHEA R 1

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




GB3452.1-92 0O-OBPA3HOE
6 KONbLIO38.7*3.55 2
7 G11/4 PR ] 1
8 LG207.6-10G ek 1
9 LG67G-4 37KW
LG77.6G-4 B R 1 45KW
10 45KW 12 F£M16x85 4
11 8205L0610 EREEDS 1
SKK108LM 37KW
12 SKK13LF BUHTOBAad napa 1 45KW
13 DD227.1-2-A # 1
14 KVPA06501 BcacblBaloLWMA KnanaH 1 AlV-65A-KS
15 GB899 EFEAM12X30 4
16 GB93-87 [ 12 4
17 GB6170-86 BZEEEM12 4
18 BG65-89 XOMYT 2
19 LG67.1-10 BN 22 Ji: 7 80*80*600 1
20 45 400 92 920 RENERE 1
21 39 400 40 999 75 JEXOMYT 1
22 GB5783-86 12 #:M8*35 4
23 GB93-87 #E8 4
24 GB6170-86 12 RFM8 4
25 LGC127.7-11 23k 2
26 S-27 B=<RTEis| 1
27 8201L0613 sk 1
28 LG67.1G-8A TL45%6 1
29 56 006 158 376 Z2YE 1
puc.1 nnmMTa-ocHoBaHwWe

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




puc.2 L

No. 0003Ha4YeHne HanMeHoBaHne KOIn-BO KOMMeHTapVIVI
R s— =
s e
4 GB93-87 #JE12 14 37kw

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




w14 45kw
LGK67.2G-1 : 37kw
LG77.2G-1 W 4 45Kw
GB6170-86 EEEMA8 4
GB93-87 618 4

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru

puc.2 JEZEEA:




puc.3 A FEE AL
NO. O603Ha‘-|eHV|e HanmeHoBaHune KOJ1-BO KOMMeHTapVIVI
1 | LGK37.3-1 e gE 1
2 | QF15 HRIWDg15 1
3 | LGKk37.3-4 Bk 1
LG67.3.1G-A . 37 kw
4 LG7731GA W i 1 45 kw

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




5 |LG37.3-1 2202 M10*40 2
6 | GB3452.1-92 O-OBPA3HOE KOMbLO 4
10.6*1.8
7 | LG37.3-2 N 1
8 | GB3452.1-92 O-OBPA3HOE KOMNbLO 1
33.5*3.55
9 | M33*2(LG147) P& 1
10 | LGK37.3-3 12 FEM36*2 1
11 | GB3452.1-92 O-OBPA3HOE KOMNbLO 1
185*3.55
55 170 200 230 - 37kw
12 55170 200 305 LR 1 45kw
13 | LGK67.3.1-13 A R 1
14 | LGK67.3.1-12 FER 1
15 | GB93-87 516 12
16 | GB5783-86 IZM16*45 (8.8%%) 12
47 | GB3452.1-92 O-OBPA3HOE KOMbLO )
45*3.55
18 [ G112 W2 4 1
19 | LGC2112.6-3H ek
20 | GB1226-2000 % 112Y-60 1 =
puc.3 VS FEHE

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




puc.4 ALz

No. o6o3HayeHne HavMeHoBaHue KON-BO | KOMMEHTapUi
1 Y2200L,-2 AL (37kw) 1 37kw
Y2225M-2 AL (45kw) 45kw

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




2 PSEH0553-050/60 ML B2 (FifL@50/60) 1 37/45 kw

3 | PSEBO055 444 (95/98 Sha) 1
4 | PSEH0553-050 LB (A FLe50) 1

SKK108M-15-A-2 iy 37kw

5 G784G-3 ERUEIE 1 45kw

4 37kw

. 4 37kw

GB70-85 124TM10*40 8 45KkwW

8 GB77-85 124TM8*20 2 37kw

9 GB5782-86 12 4£M18*70 8 45KW

4 37kw

4 37kw

11 GB6170-86 12#M18 8 45kw

puc.d (LFNERAF

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




puc.5 A HIAR R

No. 0003Ha4yeHne HanmeHoBaHune KON-BO | KOMMEHTapun
1 | GB5783-86 IEHM10%15 4
2 | GB93-87 HPE10 4
3 | 700FZL-C6P35LS6Z B RML 1
4 | GB5783-86 24 M10*25 10
5 |LG67.5.1 AHIB 1
6 | GB93-87 HPE10 10
7 | GB6170-86 12 REM10 10
8 |LG107.5-2 P 1

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




9 |QF-40 | BkiDg40 1

puc.5 AEIESTEAE

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru



puc.6  JHEER

No. o6o3Ha4eHne HaMMeHoBaHVe KON-BO | KOMMEHTapwii
1 |G B i
2 | GB3452.1-92 O-OBPA3HOE KOINbLO 4

30*3.55

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




LG67.6-9G B3k 4
O-OBPA3HOE KOJbUO
4 GB3452.1-92 23 6%3.55 6
LG67G-2 A N 37KW
5 G77.6G-1 AR A 1 45KW
6 LG67.6-1G Fz3k 1
O-OBPA3HOE KOIbLO
7 GB3452.1-92 23 6*2.65 1
8 G3/4 gl 1
LG67G-3 A P 37KW
10 | ATS 255 NE Sk 1
LG67G-1 . 37KW
S A 4
12 LGK67.6G-2 B3k 1
O-OBPA3HOE KOJbUO
13 | GB3452.1-92 23.6%2 65 1
14 M26*1.5 1 JE (LGK) 1
15 | GB3452.1-92 SEQE:ASHOE KOMbLIO 2
16 | M12*1.5 # 2
17 | 8201L0867 M12*1 5Kk & H1E3L8 2
LG67.6G-8 . 37KW
oy 255 4
18 " G776G8 RIS AL 1 A5KW
19 | GB5783-86 12k:M10*25 2
20 | GB93-87 HpE10 2
21 SO 02 HLIHJEI o 1k 22 K T3 1
22 | 66092212 HLIHJE S 1

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru

puc.6  HEAL




puc.7 S

No. 00o3Ha4veHne HanMMeHoBaHne KOM-BO | KOMMEHTapWUn
1 01091013 R1/4-~R & —18$:L10 2
2 | LG67.7G1 A PO AT 1
3 | LG67.7-11 3k 1
4 KPVB0320450 & /NE 718 1 MPV32A
5 GB3452.1-92 0-OBPA3HOE KOJbLIO 1

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru




38.7*3.55

6 |G11/4 ] 1
7 | LG67.7-12G 3k 1
8 | GB3452.1-92 O-OBPA3HOE KOMNbLO 2
28*3.55
9 |LG67G5 HURE 4 1 37KW
LG77.6G-5 45KW
10 | LG67.7-10 [a] Jeh AN 4L 1
11 | LG67.7G-9 [5] 3 7 £ 1 1
12 | 8201L0867 M12*1 5K & E %48 1
13 | GB3452.1-92 O-OBPA3HOE 2
KONbL09.5*1.8
14 | M12*15 RS 2
15 | LG67.7.1-3 V] 1
16 | GB308-77 HHER10 1
17 | LG67.7.1-4 P 1
18 | LG67.7.1-1 e 1
19 | GB12241-2005 Dg25%4x ¥ 1
20 | LG67.7-14G B3 1
21 [ G112 g 1
22 | GB3452.1-92 O-OBPA3HOE KOMbLIO 1

45*3.55

OO0 "Komnpeccop MNK" +7 (383) 292-1-898 info@compressor-pk.ru

puc.7 AL




